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For if he had a claim of, etc. — 99121 NIYY Y0 T ANY

OVERVIEW

The miawn explains the reason for the 0°»21 nipn that a 79102 should be married 1%
*¥°2777 is because in case the husband claims that she is not a 7902 (and was
perhaps 71 while she was betrothed [which would make them =0X to each
other]), he will be able to immediately go to 7"2 (on Thursday) and state his claim.
There is a dispute between >"w1 and MdoN as to what is accomplished by stating
the claim in 7"2.

nvoIN asks:
= 29HY Nan AN IN 1N HYN NN NN 9NN ON)

And if you will say; granted, there is a point in 2°91n2 ni1wv by the wife of a 712,

or if he was w7p»n his wife when she was less than three years old -
= 4x,0 1Y) N2 19999NT 3NPI90 4N NIN N4

For in those cases she will be 70K to him (by his 2°21n2 n1ww) since there is only

one doubt, as the X2%3 states -
= 674 Y NYIN INNN SRPIAD POD NIINT DY) INWA JAN

' If the wife of a “x"Ww> was forced into Nt against her will (01X2), she is permitted to remain with her husband.
However if the wife of a 375 was n0iR1 (she is considered a 77 and she) is forbidden to be with her husband. He is
required to divorce her.
2 A girl who is less than three years old; even if she had 7%°3, her 7102 will return and she will retain her 7712
status. If she became nwTpn before she was three, and her husband finds her not to be a 77102, it must be that she
was 112y21 sometime (after she was three, which is sometime) after she was nwT1p» and an WX NWX.
3 Regarding the 170 nwX (if the husband claims she is a 77Ww3) it can be she was 79v21 before the 1w17p (when she
was still a 7119 and is not considered a 713%7) and she is 172 79¥2% NN, or it is possible she was 79v21 after the PwiTR
in which case she is a 717 (even if it was 0182 [see footnote # 1]) and is 7727 77110K. Since there is only one P90, she
is poon 77¥2Y 770K as in every RN™MIRT Xp oD. Similarly by a niwp who was nwpn1 (to a PX7w°) when she was less
than three years old, there is also only one P20 whether she was 012 17721 (where she is 78w 79935 nanmn [see
footnote # 1]) or whether she was 11¥72 7%y21 (where she is definitely %> 79922 770K since she was certainly
nnn a9va1 [after the 1w17p (see footnote # 2)] for otherwise she would still be a 791n3). Therefore she is Poon 77I0K.
4 In these cases it is understood why the o»2n were jpnn that he marry '7 0%, because if he finds out that she was
already 7%v21 she is 1" 770K, and by going to 7"2 he will be told to divorce her.
> By an 2% nwX (who was 7wTpn1 when she was more than three) there is a doubt within a doubt, which should
permit them to be together. There is the doubt that perhaps she was o1%2 72v21 (in which case she is 77¥2% 0w
98w [see footnote # 1]), and even if she was 17¥72 79v21 (which would seemingly forbid her to her husband);
nevertheless there is the additional doubt that perhaps she was 79¥21 before the w17 (and she is permitted to him).
Even if he tells 7"2 that she is a 72Ww3, nonetheless 7"°2 will permit them to be together since there is a Xp*»0 P50
XI5,
¢ We cannot say that the 71pn was made so that he can claim she is a 792 and he does not owe her the (entire)
721N, because for this we do not need a 71pn; if he does not want to pay her (full) 72103, he can always claim that.
1

TosfosInEnglish.com



oxY 7"7 '01N X,2 M21n> .7"02

However by the rest of the women (who are not 372 WX or were not 7N WIPNI
' nan) where there is a X»20 po® and therefore she is not 7MOX to him, so why

should those women get married '7 219, since the o°»na nwv will not accomplish
anything.

N1D0IN answers:
- NPIPNA 1339 M99 YT O 19539 TN

And the n''1 answers that the 3129 did not differentiate in their enactment for a

77102 to marry "7 217 -
= 79 092 INYIY DVUIN D92 1PN /M AN 1N HYN DIVN)

And they enacted that every woman should marry '7 2192 (even though the nivv
0°71n2 will not prohibit them from being together) because of an 375 nwX and a
'3 nan nme (where the 099102 NIYY creates an MOX).

mooIN cites "W opinion on this matter:
= 719893 NN1TY DTY INII 9391 9935° 72 PINNY W DIVNPI)

And >"wn explained; the purpose of 2102 nwv by o'w1 Xw is that by his
complaining in 7"2, the situation will be verified and witnesses will come forth
that she was 1t willingly and therefore 77v2% 770K.

In summation: according to '01n the 7pn (initially) was only for an 372 nwX and a '3 nan amno,
and on account of 295 X7 it was extended to o°w1 IXW also.® However according to *"w1 the ipn
was initially for all 2*w1, for we may find out that 11372 79y21.°

n1voIN asks on °"wD;
= N3%35) 9193 )IN N AN 9N (3,0w) NIIH2 129INRT IWIN9Y NYUP)

And there is a difficulty with >"w7°0 for the X972 states, “»aR said we also learnt

in a ;7w this rule of MTY5XR " -
- 11955y M90INY 1°1)3N) ININSN NINA NN 9NINNT

However regarding Mo°X we are concerned that if he does not go immediately to 7"3, he may calm down and
convince himself that it does not matter (since it is only a poo, etc.)
7 The words 1%72 7n>1w do not appear in our "1 text. See ‘Thinking it over’ # 1.
8 If he makes the claim by "3 nan 7NNy 75 NWX, she will be 770K on him; however by o°w1 IXw they will not be
19V 770K,
9 However, it is possible that even by 175 nwX or '3 nan 1mno she will not be 70X (by 2"5 NIWY) unless 07y testify.
10 The novelty of this ruling is that for 22102 NIwY it is not necessary to prove that there was no 2°21n2 o7, but even if
there is no proof from the 07 (for they lost the cloth, etc.), nevertheless if he claims there was an opening (instead of
being closed) that is sufficient to render it a valid claim and we do not suspect that perhaps he is mistaken whether it
was a 8"d or not. See ‘Thinking it over’ # 2.
11 See the X3 there on the '} Ty that he is believed 17y 770%> only by an 375 NWX or '3 nan Ao,
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That one who says, ‘I found an open doorway’, he is believed to have her

forbidden to him; this rule is indicated in our mwn, for the mwn states -
= 12909 NN PYVPT IND NI D HNYI "IN

‘A m2In2 is married, etc. because if he has 2°2102 niwv he will be 7"°2% 2%wn’; »aR

continues, is it not so that his 2°71n2 niwv is that he claims °nXx» mnp nne’
(indicating, according to *2X, that 12¥ 7I0IXY 1R1 *nR¥H 5"5 9K:). This concludes the citation

from the X3, MO continues with his question on "> -
= JANI 1ONT 2) DY N RN DIVIPN WINQT NN 91199 33910 RNV

But now, according to >'"'w9, what proof is >ax bringing to the ruling of "5

7AR1 °nR¥A, from our 71wn; for even if he is not 7281 -
- 1392497 99259 DX1Y INIAN NP RYY 19 TINNY PT N5 ©29W> 01PN Yan

Nevertheless he should still be 7'"%a% 2w, for on account of his claim, there

will be publicity and witnesses will come and the matter will be clarified that
she was 11¥72 71172; however his claim alone of "5 is not believed.

moon answers (his question on *"w7):
= BH)ma NN XN ON 99919 P2 NINY NINX 9TYIN 229D 1IN9 9N 9119910 NIT 990 v

And one can say; that »2R is not bringing a proof to the ruling of X'9 that X7
1PHY TI0IRD R onR¥n oo (for indeed according to °"ws there is no proof), but
rather 2X is proving that a person is acquainted and recognizes whether it is a

D'"'D or not; he proves it in the following manner -
= 91993 »15D N2 XYY DI1PN NY» ND ¥Pa 1N ONY

For if a ‘regular’ person is not a >p2, there will be no publicity to his claim and

nothing will be verified -
= 199297 YWINY XYY 19 99X NIND NND N¥NY N0 NYL XINY IININY D

For people will say (when they hear his 2°21n2 niyv), that he is mistaken, for he
thinks that he found a 9", but really it is not so, and they will not pay

attention to his claim, so there will be no M1°2. However, since the mwn states that there
will be a M2, this proves that his claim of "5 is valid.

12 See 'o1n there ('87) "X 7", why >ax assumed that the fawn is discussing 5"s niwv. The X refutes the proof of
2y for the 71wn may be discussing 07 Nwv (see footnote # 10).
13 1t is possible that we do not rule like X" and (by "5 n1yv) he is not Y7y 770X 1281 (even by an 170 NwR and AMnD
's nan [see footnote # 9]), however he is 7"23% o°dwn so that o>y will come. However according to niooin that the
reason for the mpn (initially) was for 175 nwx and '» nan nne, for they will be 7oK to him if he claims 2°2102 Ny
(and because of 279 R the mpn was extended to o°w1 IRW), therefore there is a proper proof from our mwn that by
5"5 he is 17y 770K 1K1 (by 175 NWX and '3 nan anIno).
14 See footnote # 10.
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mooin offers another explanation of >"w7s:
=79 010 N RNANY DIPNN 1PN KXY DIVNPN WIVAD 0)T 159mY ¥ My

And additionally one can say, that even according to >"'2=p (that the purpose of
0°7n2 v is that 9277 972n0°), the 2°non would not have instituted that every

woman should be married '7 219, solely -
= DY 21 HY 9930 NIV DIVN

Because that perhaps there will be verification through 297y, for that is too far a

stretch (there may not be a ?p, the 07y may not come, etc.) -
= 939292 N NNNY NPN 1YY NIDIND 1INIT WOV NN N5NAY 1N NYNIAT )% YaN

But rather since by 372 n@X and 's na» 17nws, where he is 19y 7908 2R3, the

21on instituted that she should marry on Wednesday, therefore the o%on -
= 01 2 HY 9391 9930 DDA RY 15 PINNY DIVN 1PN DIV INVA D)

Also instituted by a1 28w that they should marry "7 01°2 (but not because of &9
95 as MooIN said, but rather) because through this claim there will be publicity

and the incident will be verified by witnesses -
Y NADIND AN YHY NAN ANNSY )N NYUNIT PHINNDM 9Y HAN 311 NV

And now (that all [even *"wn] agree that the 71pn was [initially] made for an nwX
"\ n2an MDY 172 since he is %Y AI0IRY JUK1), AR brings a proper proof to X"
from our mw» that by 372 nwX and '> na» 7nIne he is believed 17Hy 779IRY.

In summation; according to this last explanation (of *"w7) the 73pn was made initially because of
72 NwX and '3 nan oMo [as Moo maintains] where he is 1%y 770WY MR, The o°non then
extended this 73PN to 2°Ww1 XY (not because of M75 X7 [as MoOIN explained], but rather) because
there is a purpose for o°w1 TXw as well, for through his 0°91n2 nww there will be a 7P and 71an
0°7y2 727.

mooin asks:
= 919292 N RNNY NPN NNITT XWYYN DIVNT ¥IYN XINT 160105

And it is astounding; for it seems from the 71wn here that the 051 instituted

that she should marry Wednesday because of the concern of promiscuity nr -
- 175959 YW 190X 13T 1IPNT TNINT IND NN (0w x,1 97) PONT 72 P93

15 This explanation disagrees with the assumption mentioned in footnote # 9.

16 See ‘Thinking it over’ # 3.

17 When a woman brings property into a marriage (272 *0321) the rule is that (even though she retains the ownership
of the property, nevertheless) the husband receives the fruits of the property. This arrangement continues as long as
they are married. If however the husband divorces her he loses the rights to the m7°s (from the time of the divorce).
If there would be no 747 in the 3, it is conceivable that the husband, even after the divorce, will continue consuming
the M8 (without the woman realizing it), and when she will claim that he illegally ate the M9, the burden of proof
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However in the second pap of 1w noon there is one (v°P% 1) who maintains

that the o°non instituted to write a date in a v because of % -
— MDY NI HNITT DIVM 1PYN KXY BHmNnx Na by Nans XY DIvn Yax

However this 7"n maintains that we cannot say that the reason the 0°n2r1 were pnn
Tv°A2 727 is because perhaps he will cover up for his niece, he negates this view

and maintains that we are not concerned for 797 X»Ww since Nt is not prevalent.
The question is why there by 11 there is no 71pn because of mit, however here by the wedding
we make a 171pn because of our concern for mar?!

NID0IN answers:
= H’9Y RY 021929 YANINNA 1329107 NN Y70 SNNT MIT MNP ONNYT 9D YN

And one can say that "1 says there that a mir which will carry a death

penalty, meaning that it was done with a warning and witnesses, is not common
therefore there is no need to be ya1 N1 because of 1om° Xnw; however Mar without I8N 7Y
(for which we are concerned here) is indeed common, and therefore there is a need for the f1pn
of '7av.

mooIn offers an alternate answer:
$HIY NRYT ) DY AR 7Y 1DPAN WM 19930 U 9IDINI 1Y AWN XYW NON ) ON
Or you may also answer; that here they were concerned for nr even though it

is not common, in order that she should not be with him illegally all his life,
however there, since there is no lifelong MoX to be concerned about (merely her wheedling
herself out of the death penalty), they were not concerned for nir.

SUMMARY

The nipn of '7 o1% nRw1 772 was made initially for 175 nWX or '3 nan nnnd,
however it was extended to °w1 IRW either because of 2195 X7 (the view of '01n), or
because there is the possibility that 2>7v2 9277 972n° (the view of *"'w9).

THINKING IT OVER

will be on her as to when the divorce took place (since there is no date in the vx). Therefore the o°non instituted to
write the date, protecting the woman’s rights to her M5, beginning from the date on the v3.
18 The view of 1an1 ' there is that they were 7°0°32 27 17nn because it is possible that someone will marry his niece
([not necessarily a niece but rather anyone] of whom he is very fond, regardless of their marital status), and she may
be vnnn m1m and will be AN 21, so in order to spare her the death penalty her husband (dear uncle) will write her
a vx and she will claim that she received the v2 before the nmir, so she was not an WX nw and not liable for the death
penalty. Therefore they instituted 1v°32 7 to avoid this miscarriage of justice.
19 mpoIn mentions ARINT so the answer will be applicable even according to >"w= that o7y (without 7x°n7) will
come and testify that 17¥72 7n21 (for by 1171 there needs to be IR7N7 as well, to have a fin 21°m).
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1. Mmoo writes (in >"wao) that 07y will testify that N¥12 an1.2° Why is it
necessary that they testify that 11%72 7n2°1, even if the testify that she was 71m and
do not know whether it was 11¥72 on not, she will still be 79v2% 70K, for the o7y
will know whether she was vnnn 1011, and once we establish that she was nn:t
1N, she is 77¥2% 7MOK (because now there is only one 50 whether it was 01382 or
1%12); why mention 11¥72 nr?!?!

2. If it is assumed that a person is %P2 in 9"p,?? is there any w17°11 in the ruling of X"
that 1Y 7901 JAK1 *NREAN 5"D MG in a case of 1779 NWK or '3 Ny 7NnD?23

3. Is there any connection between moon last question®* regarding mar, with that
which mpoIn mentioned previously?%

20 See footnote # 7.
2l See X MIX P> OTD.
22 See footnote # 10.
2 See 1nX n"n a"n.
24 See footnote # 16.
25 See *"19 and 15 MK 7"I10.
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